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 academy for fashion careers   

MOCK TEST#02 (a) 

 

CREATIVE ABILITY SECTION 

Duration 45 minutes        Mm: 50 marks 
 
Q1. Depict your interpretation of any ONE of the given themes in the given grid using colur pencils 
only. There should be ONE colour per block, you may use as many colour as you want and across as 
many blocks as you want. Do not Draw. Give a suitable title to your work and in not more than 50 
words, explain your concept and choice of colours: 
(a) Most valued virtue  (b) Opportunity  (c) The New normal 

 (25 marks) 
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Q2. Draw any ONE of the given elements/ compositions using ONLY either circles or triangles (do not 
use any other lines or forms), you may render in black and white only: 
(a) A bird/ animal of your choice   (b) Any utility product that we see in our daily life 

       (25 marks) 
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 academy for fashion careers   

MOCK TEST #02(a) 

 

GENERAL ABILITY SECTION 

Duration 45 minutes        Mm: 50 marks 
INSTRUCTIONS: ALL questions carry equal marks (@+1). There is negative marking @-0.25 for each 

wrong answer.  

You MUST write the serial numbers 1 to 50 in a tabulated form and then mark the answers of respective 

questions. Leave the un-attempted ones blank. Do not write the answers, only write the options.  

Do not write answers in random order, follow the sequence. 

Directions (Questions 1-5): Study the passages below to answer the questions that follow each passage. 

There was once a poor man who earned just a bare living for himself and his family. All day long he sang and 

passed time cheerfully, while his rich neighbours were busy and anxious about their riches and never sang. They 

wondered at the poor man’s joy and even complained that with his singing, he would not let them sleep. One of 

them, a very wealthy man said, “I will stop him being so cheerful and singing all the time.” He went to the poor 

man’s house while he was away and threw a bag of money into his room. When the poor man came home, he 

was very happy at first and cheerfully hid the bag of money. Soon, however, he began to fear it might be stolen or 

he might be accused of having stolen it, and he ceased to be cheerful and to sing. After a time, the rich man 

asked him, what made him so thin and sad. At first he did not dare to say but when the rich man told him that he 

knew his secret, he cried out, ‘Take back your money, then I shall be happy and free from care and shall sing as I 

used to”. Saying so, he flung the treasure at the rich man. 

Q1. What kept the wealthy man ‘anxious’? 

(a) Greed and insecurity    (b) Pride and jealousy    (c) Fear and frustration  

(d) Sleeplessness    (e) none of these 

 

Q2. The poor man was happy all day long because 

(a) he had no money.    (b) of his carefree attitude.    (c) he had nothing to lose.  

(d) he could support his family well.  (e) none of these 

 

Q3. The wealthy man complained that the poor man’s singing did not let him sleep. What do you think kept him 

awake? 

(a) Noise of the song    (b) Jealousy for the poor man     (c) Fear of losing his money  

(d) Worries about the future  (e) none of these 

Q4.. ‘At first he did not dare to say .....' Why didn’t the poor man ‘dare to say’? He feared that 

(a) his family might overhear him.  (b) the rich man would mock at him.   (c) the rich man might 

steal his money.  (d) he would have to return the rich man’s money.  (e) none of these 

Q5. The poor man returned the money to the rich man to restore his __________. 

(a) happiness   (b) contentment   (c) honesty  (d) generosity (e) none of these 

Q6. In how many years the simple interest on Rs. 6000 at 10% rate of interest S.I will become Rs. 1800? 
(a) 3 months  (b) 3.5 months  (c) 4 months (d) 4.5 months (e) none of these 
 
Q7. Mayank  has borrowed Rs. 5000 at the rate of 6% S.I. what amount he needs to pay after 3 years to clear the 
debt? 
(a) Rs. 5500  (b) Rs. 5900   (c) Rs. 6100  (d) Rs. 6300 (e) none of these 

Q8. In what time Rs. 6000 will give interest of Rs. 720 at the rate of 6% p.a. S.I.? 
(a) 1.5 years  (b) 2 years   (c) 2.5 years  (d) 3 years (e) none of these 
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Q9. What is the compound interest on Rs. 2500 for 2 years at rate of interest 4% per annum? 

(a) Rs.180  (b) Rs. 204   (c) Rs. 210  (d) Rs. 220 (e) none of these 

Q10. What is the amount for a sum of money Rs.7500 at 6% rate of interest C.I. for 2 years? 
(a) Rs.8427   (b) Rs.8417    (c) Rs.8400 (d) Rs.8390 (e) none of these 

 
Q11. On lending a certain sum of money on C.I. one gets Rs.9050 in 2 years and Rs.9500 in 3 years. What is the 
rate of interest? 
(a) 6%   (b) 4.5%   (c) 5.5%  (d) 5%  (e) none of these 

Q12. Rohan borrowed Rs. 3600 at a certain rate of interest C.I. and the sum grows to Rs. 4624 in 2 years. What 
is the rate of interest? 

(a) 12.3%  (b) 14.3%  (c) 13.3%  (d) 15.3% (e) none of these 

Q13. A shopkeeper sold an article for Rs. 2500. If the cost price of the article is 2000, find the profit percent. 

(a) 23%   (b) 25%   (c) 27%  (d) 29%  (e) none of these 

Q14. A man purchases a TV for Rs. 8000 and sells it at 10% loss. What is the selling price of T.V? 

(a) Rs.7200  (b) Rs.7000   (c) Rs.6900  (d) Rs.6500 (e) none of these 

Q15. Peter bought a chair for Rs. 1540 and sold it to Sam. If Peter earned a profit of 25%, find the selling price of 
chair. 
(a) Rs.1875   (b) Rs.1900  (c) Rs.1925  (d) Rs.1950 (e) none of these 

Q16. Which of the following embroideries uses ‘Chain Stitch/ Aari stitch’?  

(a) Kasuti  (b) Phulkari  (c) Kutch (d) Kashidakari (e) none of these 
 
Q17. Which of the following apps is not in the list of banned by the Indian government in 2020?  

(a) Kwai   (b) TikTok  (c) UCBrowser (d) Shein (e) none of these 
 
Q18. “Unfinished” is the upcoming autobiography by?  

(a) Saif Ali Khan  (b) Priyanka Chopra (c) Kyne West (d) Usain Bolt (e) none of these 
 
Q19. Who among thee following currently heads the ‘Future Retails’?  
(a) Anil Ambani  (b) Kishore Biyani  (c) Aditya Birla (d) Akash Ambani (e) none of these 
 

Q20. What does ‘R’ stand for in the acronym IRDAI?   

(a) Regional  (b) Research   (c) Regulatory  (d) Reach  (e) none of these 
 
Q21. On which of the following day is the ‘National Handloom Day’ observed in India?  

(a) August 7th  (b) August 21st   (c) August 10th  (d) August 31st  (e) none of these 
 
Q22. Which country has provided combat aircrafts Rafale to India in 2020? 
(a) Russia  (b)USA   (c) Germany (d) France (e) None of these 
  

SYNONYMS 

Q23.  Affable  

(a) sociable      (b)   antisocial      (c) cruel      (d)  confused  (e) none of these 

Q24. Hale   

(a) weak          (b) timid                 (c) strong    (d) snobbish  (e) none of these 

 

ANTONYMS 

Q25. Balky  

(a) cooperative   (b)  awkward     (c) uncooperative  (d) none of these (e) none of these 

Q26. Cogent  

(a) logical      (b) vague            (c)  clear                (d) tangential  (e) none of these 
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IDIOMS 

Q27.  A Snake in the grass  

(a) a close friend    (b) a hidden enemy  (c)  a person with evil deeds  (d) danger (e) none of these 

 

Q28.  Over heads and ears  

(a) greatly in debt   (b) a wealthy person   (c) at death bed    (d) inaudible (e) none of these  

 

Directions  : In each of these questions, out of the given group of words, choose the correctly spelt word. 

Q29. (a) Examplary  (b) Exemplary  (c) Examplery   (5) Exemplery (e) none of these 

Q30. (a) Aforstation  (b) Aforestation  (c) Afforstation   (d) Afforestation (e) none of these 

 

Directions: Every sentence is divided into four sections (a, b, c). There is some error in one of these 
sections. Read the sentence carefully and mark the incorrect section. However, if you feel the sentence 
contains no error, mark part 'd'. 
 
Q31. Although he was late (a)/ but he stopped on the way (b)/ to have coffee with his friends. (c) / No error. (d ) 
 
Q32. No sooner did he see his teacher (a)/ when he (b)/ stopped copying. (c)/ No error(d). 
 
Q33. Had you been to Mumbai, (a)/ I would also go (b)/ with you (c)/ No error(d). 
 
Q34. She ran so fastly (a)/ that she was able to catch (b)/ the running bus (c)/ No error.(d) 
 
Q35. He met me two days ago (a)/ but he never told me (b)/ about his grandmother's death. (c)/ No error (d). 
 
ONE WORD SUBSTITUTION 

Q36. Fear of confined places 
(a) Claustrophobia (b) Packophobia  (c) Altophobia (d) Acrophobia (e) none of these 
Q37. An event causing sudden damage or suffering 
(a) Anastrophe  (b) Apostrophe  (c) Catastrophe (d) Antistrophe (e) none of these 
PREPOSITIONS 
Q38.  My friend has been living in Canada ………… two years.  
(a) about  (b) since           (c)  for        (d) from  (e) none of these 

Q39. I have been waiting for you ……………..7 o clock.  
(a) about  (b) since           (c)  for        (d) from  (e) none of these 

 
Change the direct speech into indirect by marking the correct option. 
Q40. Ali said to the beggar, “I know you very well”. 
(a) Ali told the beggar that he knows him very well.  (b) Ali said to the beggar that he knew him very 
well  (c) Ali told the beggar that he knew him very well   (d)None of these 
 
Q41. Neha said to Namit, “What are you playing now?” 
(a) Neha asked Namit that what he was playing then.  (b) Neha asked Namit what was he playing then. 
© Neha asked Namit what he was playing then     (d) None of these. 
 
Q42. Poorvi said, “Let us go to the party”. 
(a) Poorvi suggested that they should go to the party  (b) Poorvi requested that they should go to the 
party  (c) Poorvi asked to go to the party    (d) None of these 
 
Directions: Following are the capabilities for a specific post in a reputed organization. Find the right 

course of action with regards to the hiring of the candidates as per their details provided. 

The candidate must - 

a - Be a civil Engineering graduate with at least 65% marks. 

b - Not be less than 21 years and not more than 28 years of age as on 1-1-2016. 

c - Have passed the selection test with at least 70% marks. 

d - Be willing to pay a deposit of 50,000 rupees which is to be refunded on completion of training. 

However, if all of the above said criteria are satisfied except - 

 



         

ACADEMY FOR FASHION CAREERS, Lucknow. www.afcfashion.in  
 

AFCMT/08/afc12K20/#02(a) 

I - At (a) above, but has appeared for the last semester examination and has obtained 75% marks in the last 7 
semesters, the case will be referred to the V.P. of the company. 

II - At (d) above, but has an experience of working in this field for more than a year, the case may be referred to 
the GM of the company. 

 

Q 43. Bindu has cleared all his seven semesters with 85% marks. She has scored 75% in the selection test and 
her age is 23 years. She is willing to deposit 50000 rupees. 
(a) to be selected (b) to be referred to the general manager (c) to be referred to the VP.   
(d) data insufficient (e) not to be selected 
 
Q44.Based on given Statements which of the following conclusions will follow: 
(I) All heroes are villains.  (II) All villains are zeros.  (III) Some heroes are jokers. 
Conclusion: 
(i) Some Jokers are heroes (ii) Some villains are jokers  (iii) Some zeros are villains 
 
(a) Only II, III follow        (b) All I, II & III follow  (c) Only I, III follow  
(d) Only I, II follow  (e) none of these 
 
Directions: Following are the capabilities for a specific post in a reputed organization. Find the right 
course of action with regards to the hiring of the candidates as per their details provided. 
The applicant must – 
(a) be an Engineering graduate with at least 60% marks; 
(b) be at least 21 years and not over 25 years old as on 1.5.2006; 
(c) have passed through the determination test with no less than 55% marks; 
(d) be willing pay a store of Rs. 50,000, to be discounted on consummation of training. 
However, if a candidate fulfils the above mentioned criteria except: 
(i) At (a) above, yet has showed up for the last semester examination and has acquired a total of least 65% 
marks in initial seven semesters, his/her case might be referred to the V.P. of the organization; 
(ii) At (d) above, however will pay a measure of at any rate Rs. 25000 and has gotten no less than 70% marks at 
Engineering degree, the case possibly referred to the General Manager of the organization. 
The case given to is  as on 1-5-2006. 
 
Q45. Amelia is an IT engineer went out in 2003 with 52% marks. After getting the designing degree, she has 
done MBA with specialization in Finance. She has cleared the determination test with 60% imprints. She can pay 
the store of Rs. 50000. Her date of birth is fifteenth September, 1982. 
(a) to be selected  (b) to be referred to the General Manager (c) to be referred to the V.P. 
(d) data inadequate (e) not to be selected. 
 
Q46.  Statements:  I) Some cups are spoons  II) Some plates are spoons 

Conclusion:  I) All plates may be cups  II) Some spoons are plates 
(a) Only I follows        (b) Only II follows      (c) Either I or II follows  
(d) Neither I nor II follows  (e) both I & II follow 
 
Q47. Statements:  
I) Some fruits are mangoes. II) All mangoes are grapes. III) No grapes are apples 

Conclusions:  I) All fruits are apples  II) No mango is an apple 
(a) Only I follows        (b) Only II follows      (c) Either I or II follows  
(d) Both I & II follow  (e) none of these 

(Directions 48 – 49): A word and number arrangement machine when given an input line of words and 

numbers rearranges them following a particular rule in each step. The following is an illustration of input 

and rearrangement. 

Input: 32 69 56 88 47 94 54 

Step I: 94 32 69 56 88 47 54 

Step II: 94 69 56 88 47 54 32 
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Step III: 94 88 69 56 47 54 32 

Step IV: 94 88 69 56 54 32 47 

Step V: 94 88 69 56 32 47 54 

Step V is the last step for the given input. 

As per the rules followed in the above steps, answer the questions for the following input. 

Input: 11 19 25 39 61 70 48 36 
 
Q48. Which of the following is the second last step? 
(a) 70 61 48 39 11 19 25 36  (b) 39 61 48 70 25 11 19 36 (c) 70 61 48 39 36 11 19 25 
(d) 39 48 61 70 25 19 11 36  (e) None of these 

A word arrangement machine when given an input of words, rearranges them following a particular rule 

in each step. The following is an illustration of input and steps rearrangement. 

INPUT: Mobile Bag Plate Charger Mouse Box 

STEP 1: Bag Mobile Plate Charger Mouse Box 

STEP 2: Bag Box Mobile Plate Charger Mouse 

STEP 3: Bag Box Charger Mobile Plate Mouse 

STEP 4: Bag Box Charger Mobile Mouse Plate 

This is the final arrangement and step 4 is the last step. 

As per the rules followed in the given steps, answer the questions given below for the following input. 

Input: Rent Dear House Bear Colony 
 
Q49. What would be the last step of the following input? 
(a) Bear Colony Dear House Rent    (b) Dear Bear House Colony Rent       (c) Rent Dear House Bear Colony 
(d) Bear Colony House Rent Dear      (e) Bear Colony Dear Rent House 
 

Q50.Statements:  Some mobile is Laptop. No Laptop is phone. All phones are LCD. 

Conclusions: I. Some mobile is not phone.   II. Some Laptop can be LCD.        III. Some LCD is not Laptop. 

(a) only II follows    (b) both II and III follow  (c) both I and III follow 

(d) both I and II follow   (e) all follow 


